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PROBABILITY

Classical Thinking Algebra Of Events Concept Of Probabiltiy

1. The probability of an impossible event is 0 (b) 1 (c) 1/2 (d) non-existent

Al
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2. What is the probability of a sure event?

A1l

Answer: A

° Watch Video Solution

3.If E is any event associated with an experiment then.

A.P(E) <0
B.P(E) > 1

C.P(E) >0


https://dl.doubtnut.com/l/_mfUQSJToMz46
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D.0 < P(E) <1

Answer: D

° Watch Video Solution

4.F or any event A
A P(A)+P(A) =0
B.P(A) + P(4) =1
C.P(A) >1

D.P(A) <1

Answer: B

° Watch Video Solution

5.1f Ais a sure event, then P(Z) is.


https://dl.doubtnut.com/l/_WVUcbWqRqw6u
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A.O

C.1

D. 2

Answer: A

° Watch Video Solution

6.4 coins are tossed . The probability that they are all heads is
1
16
2
9
3
16
D.

15

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_6gdWnSV6J9aS
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7. A card is drawn from a pack of 52 cards. The probability of getting a

queen of club or a king of heart is

Answer: B

o Watch Video Solution

8. A card is drawn at random from a pack of 52 cards. Find the probability

that the card drawn is a jack, queen or a king


https://dl.doubtnut.com/l/_EaVlvKih4G3I
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Answer: B

o Watch Video Solution

9. Two dice are thrown together. The probability of getting the same

number on both dice is

w SOt O = W N
gl | | oo

Answer: B

° Watch Video Solution
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10. Two dice are thrown. The probability that the sum of numbers

appearing is more than 10, is

g|r—l S §|r—~ §|b—‘

Answer: B

o Watch Video Solution

1. If in a lottary there are 5 prizes and 20 blanks, then the probability of

getting a prize is

@ >

N
ol oo o =
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D. None of these

Answer: A

° Watch Video Solution

12. A number is chosen at random from first ten natural numbers. The

probability that number is odd and perfect square is .

U= Ngw o ol

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_uWfyYF21w2cM
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13. If a single letter is selected at random from the word 'PROBABILITY',

then the probability that it is a vowel is

Answer: C

o Watch Video Solution

14.3 mangoes and 3 apples are in a box. If 2 fruits are chosen at random,

the probability that one is a mango and the other is an apple, is

w
w|—= ofw w|


https://dl.doubtnut.com/l/_8RK9GEs2mZs5
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Answer: B

° Watch Video Solution

15. From a group of 5 boys and 3 girls, three persons are chosen at

random. Find the probability that there are more girls than boys

o ocolon s oo] w

Answer: D

° Watch Video Solution
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16. From 10,000 lottery tickets numbered from 1 to 10,000, one ticket is
drawn at random. What is the probability that the number marked on the

drawn ticket is divisible by 20

Answer: C

o Watch Video Solution

17. What is the probability that an ordinary year has 53 sundays?

N Nl g
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D. None of these

Answer: B

° Watch Video Solution

18. Three letters are written to different persons and addressess to three
envelopes are also written. Without looking at the addresses, the

probability that probability that the letters go into right envelopes, is

Al
" 24

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_CzbjHxt3KZuK
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19. There are n letters and n addressed envelopes. Find the probability

that all the letters are not kept in the right envelope.

1
A —
n!
1
B.1 — —
n!
cCl-— —
n
1 (-1)"
D;—E—F ...... —+ y
Answer: B

o Watch Video Solution

20. Six dice are thrown simultaneously. The probability that all of them

show the same face, is


https://dl.doubtnut.com/l/_CQwyW19h5mFI
https://dl.doubtnut.com/l/_fSuNUKPBW9pG

Answer: B

° Watch Video Solution

Classical Thinking Addition Theorem And Conditional Probability

1 1 5
1.If P(A) = T P(B) = 3 P(AUB) = 3 , then P(A N B) is equal

to.

| ot 0| o] = oo|w

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_fSuNUKPBW9pG
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2.1f P(A) = 0.4P(B) = ¢, P(A U B) = 0.7 and the events A and B are

mutually exclusive, then x =

Gl = ON NP =
| | = 5l

Answer: A

o Watch Video Solution

3. Two events A and B have probabilities 0.25 and 0.5 respectively. The

probabilities that A and B occur simultaneously is 0.15. Then the

probability that A or B occurs is

A. 0.61

B.0.7


https://dl.doubtnut.com/l/_C6WTYxUjz1K0
https://dl.doubtnut.com/l/_r6XRsRHG5DCL

C.0.61

D.0.72

Answer: A

o Watch Video Solution

5 1
4.1f A and B are two events such that P(AU B) = e P(ANB) = 3

- 1
and P(B) = 3 then P(A) =

N w >

o
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Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_r6XRsRHG5DCL
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5. Two events A and B have probability 0.28 and 0.55 respectively. The
probability that A and B occur simultaneously is 0.14. Find the probability
that neither A nor B occurs

A.0.39

B.0.41

Cc.04

D.0.31

Answer: D

o Watch Video Solution

6. The probability that at least one of A or B occurs is 0.6. If A and B occur
simultaneously with probability 0.3, then find the value of

P(A") + P(B’).

A 0.9


https://dl.doubtnut.com/l/_ziX7OEwpA2tn
https://dl.doubtnut.com/l/_V7W7jvDLn8te

B.0.15

C.1.1

D.1.2

Answer: C

o Watch Video Solution

7.The probabilities of a student getting first class or second class or third

2 3 1

class in an examination are —

7 5 10 respectively . The probability that

the students fails is .

Answer: D

[ -


https://dl.doubtnut.com/l/_V7W7jvDLn8te
https://dl.doubtnut.com/l/_sbi7msh9zEDu

| @J Watch Video Solution J

8. Find the probability of getting a king or a heart from a pack of 52 cards.

Answer: D

° Watch Video Solution

9. A coin is tossed twice. If events A and B are defined as:

A = head on first toss, B =head on second toss. Then the probability of

ANB-=


https://dl.doubtnut.com/l/_sbi7msh9zEDu
https://dl.doubtnut.com/l/_Skpitm3Ru9td
https://dl.doubtnut.com/l/_CMAim1YQfRxN
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Answer: D

° Watch Video Solution

10.If A and B are two omdepemdemt events , then A are B are

A. Not independent
B. Also independent
C. Mutually exclusive

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_CMAim1YQfRxN
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11.1f A and B are any two events associated with an experiment, then

A.P(AUB) = P(A) + P(B) if Aand B independent

B.P(AUB) =1— P(A’)P(B’) if Aand B are independent

C.P(AN B) = P(A)P(B) if Aand B are exclusie

D.P(ANB) = P(A) + P(ANB).

Answer: B

o View Text Solution

12. Events A and B are independent if

A.P(ANB) = P(A/B). P(B)
B.P(AN B) = P(B/A). P(4)
C.P(AN B) = P(A) + P(B)

D. P(AN B) = P(A). P(B)


https://dl.doubtnut.com/l/_ERDc7SciJ7c6
https://dl.doubtnut.com/l/_4CBcxLOt8uHl

Answer: D

° Watch Video Solution

13.1f the events A and B are mutually exclusive, then P( A/B) =

A.O

Answer: A

° Watch Video Solution

14. A and B are two events such that P(A)= 0.8, P(B) = 06 and P

(AN B) = 0.5, then the value of P(A/B) is


https://dl.doubtnut.com/l/_4CBcxLOt8uHl
https://dl.doubtnut.com/l/_jgudnlhVhg80
https://dl.doubtnut.com/l/_mMwYrmqUJIzK
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Answer: A

o Watch Video Solution

3
15. If A and B are two events such that P(A) = 3 P(B) = - and

P(AUB) = % , then P(%)

oot o w wlN o

Answer: A


https://dl.doubtnut.com/l/_mMwYrmqUJIzK
https://dl.doubtnut.com/l/_cTXWvT4346V0

° Watch Video Solution

, P(B) = 1 and P(ANB) = 1 then P(B/A)

1
16.1f P(A) = : ;

2

Al
2

W= N =

Answer: C

° Watch Video Solution

17.1f P(A N B) = 0.15. P(B) = 0.90 then P(A/B) is

ol = x| = |


https://dl.doubtnut.com/l/_cTXWvT4346V0
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Answer: D

° Watch Video Solution

18. If A and B are two events such that P(A) # 0 and P(B) # 1 then
(%)
Al-P A
" \B
B.1—-P 4
" \B
c 1—- P(AUB)

- P(B)
P(4)
P(B)

|

D.

Answer: C

o Watch Video Solution
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https://dl.doubtnut.com/l/_a1h3JEVaYGO3

19. A man and a woman appear in an interview for two vacancies in the
same post. The probability of mans selection of 1/4 and that the womans

selection is 1/3. What is the probability that none of them will be

selected?

= w|
)
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Answer: A

o Watch Video Solution

Classical Thinking Bayes Theorem And Odds

1. A bag X contains 2 white and 3 black balls and another bag Y contains 4

white and 2 black balls. One bag is selected at random and a ball is drawn


https://dl.doubtnut.com/l/_XX4TugwjQGWp
https://dl.doubtnut.com/l/_yCF2laQB4u70

from it. Then the probability for the ball chosen be white is -

Answer: C

o Watch Video Solution

2. If the odds against an event be 2 : 3, then the probability of its

occurrence is

o= ow o o=


https://dl.doubtnut.com/l/_yCF2laQB4u70
https://dl.doubtnut.com/l/_KWnfxLHoyr6n

Answer: C

° Watch Video Solution

3. For an event, odds against is 6 : 5. The probability that event does not

occur, is

w >
<N :'m :|@ | o

N

o

Answer: B

° View Text Solution

4. In solving any problem, odds against A are 4 to 3 and in favour of Bin

solving the same is 7 to 5. The probability that problem will be solved is


https://dl.doubtnut.com/l/_KWnfxLHoyr6n
https://dl.doubtnut.com/l/_JXzzyJFpmwXn
https://dl.doubtnut.com/l/_n30ellTmmHAh

" 21
16
" 21
15
84

69
84

Answer: B

o Watch Video Solution

Critical Thinking Algebra Of Events Concept Of Probabiltiy

1. Two coins are tossed. What is the probability of getting 2 heads or 2

tails?

Alow AR Wl =


https://dl.doubtnut.com/l/_n30ellTmmHAh
https://dl.doubtnut.com/l/_Ok932MxU0LkS

Answer: A

° Watch Video Solution

2. A card is drawn at random from a pack of 52 cards . The probability of

getting red queen is

Al
"3
B 1
" 26
C1
"2
D
" 13
Answer: B

° Watch Video Solution

3. From a book containing 100 pages, one page is selected randomly. The

probability that the sum of the digits of the page number of the selected


https://dl.doubtnut.com/l/_Ok932MxU0LkS
https://dl.doubtnut.com/l/_ImsgGgQbo1qk
https://dl.doubtnut.com/l/_JIiaPTP1Op4b

pageis 11,is

A2
"~ 25

9
© 100
11
"100
1
D.W

Answer: A

o Watch Video Solution

4. A digit is selected at random from either of the two sets {1, 2, 3, 4, 5, 6,

7,8,9}and {1, 2, 3, 4, 5, 6, 7, 8, 9}. What is the chance that the sum of the

digits selected is 10?



https://dl.doubtnut.com/l/_JIiaPTP1Op4b
https://dl.doubtnut.com/l/_AIAyDj9t92a2

Answer: A

° Watch Video Solution

5.Six dice are thrown. The probability that different numbers will turn up

is equal to

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_AIAyDj9t92a2
https://dl.doubtnut.com/l/_PWS23Rob0aJv

6. Two dice are thrown simultaneously. The probability of getting the sum

2or8or12is

Answer: B

o Watch Video Solution

7. The probability of getting a number between 1 and 100 which is

divisible by one and itself only is......

25
99

25
98


https://dl.doubtnut.com/l/_5xgHlbkUUnMb
https://dl.doubtnut.com/l/_UBQBTrrvw9F8

D. None of these

Answer: C

° Watch Video Solution

8. These is an objective type question with 4 answer choices exactly one
of which is correct. A student has not studied the topic on which the
question has been set. The probility that the student guesses the correct

answer is

0|~ &= N

O
IN

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_UBQBTrrvw9F8
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9.Find the probability that a leap year selected at random will contain 53

Sundays.

~Nw ol gl g =

Answer: B

o Watch Video Solution

10. A coin is tossed once. If a head comes up, then it is tossed again and if

a tail comes up, a dice is thrown. The number of points in the sample

space of experiment is

A. 24

B.12


https://dl.doubtnut.com/l/_NncFY6HvrRxK
https://dl.doubtnut.com/l/_ZEtwYiUcw7bJ

C.4

D.8

Answer: D

° Watch Video Solution

11. Two dice are thrown. The number of sample points in the sample space

when six does not appear on either dice is

A1

B.30

C.18

D. 25

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ZEtwYiUcw7bJ
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https://dl.doubtnut.com/l/_de00z3B81Ovf

12.1n a single throw of two dice, what is the probability of getting a total

13

A0

B.1

13
36

5 25
" 36

Answer: A

o Watch Video Solution

13. Three horses H;, H, and Hj are in a race which i s won by one o f
them. If Hy is twice as likely to win as Hy and Hj is twice as likely to win

as Hs, then their res p ective pro b abilities of Winnig are .


https://dl.doubtnut.com/l/_de00z3B81Ovf
https://dl.doubtnut.com/l/_eoQqkLaucIDw

c1 2 4
T

D. None of these

Answer: A

° Watch Video Solution

14. The letters o f the word FATHER are written on separate cards, two

cards are drawn at random. Probability that both are vowels is

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_eoQqkLaucIDw
https://dl.doubtnut.com/l/_WZ3MFM5dDB7f
https://dl.doubtnut.com/l/_5mpnYQREBPZU

15. A box contains 10 sample watches, 2 of which are defective. If 2 are

selected at random, the probability that both selected are defective is,

Answer: D

o Watch Video Solution

16. A drawer contains 5 brown socks and 4 blue socks well mixed a man
reaches the drawer and pulls out socks at random. What is the

probability that they match? 4 /9b.5/8¢.5/9d.7/12

>

w
©| i 00| ot


https://dl.doubtnut.com/l/_5mpnYQREBPZU
https://dl.doubtnut.com/l/_tWIEp6u1XS6W

Answer: B

° Watch Video Solution

17. From a pack of 52 cards, the cards are drawn till an ace appears .

Probability that an ace does not come in first 26 cards is,

52 026
Cy
52 026

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_tWIEp6u1XS6W
https://dl.doubtnut.com/l/_lvEm8NPkvbBg
https://dl.doubtnut.com/l/_fNHxpIiBTn1E

18. A cricket club has 16 members out of which 6 can bowl. If a team of 11

members is selected. Find the probability that the team will contain

exactly four bowlers

Answer: D

o Watch Video Solution

19. From 4 children, 2 women and 4 men , 4 are selected. Probability that

there are exactly 2 children among the selected is

ENTRSCEEEN R\


https://dl.doubtnut.com/l/_fNHxpIiBTn1E
https://dl.doubtnut.com/l/_1OMoGSAwoBq8

c 10
" 21

10

Answer: B

° Watch Video Solution

20. An organization consists of 25 members including 4 doctors. A

committee of 4 is to be formed at random. The probability that the

committee contains at leas t 3 doctors is

A
2530
B~
2300

c 1
" 12640
DL

" 2300

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_1OMoGSAwoBq8
https://dl.doubtnut.com/l/_Sr2crX6gFww8

21. A person draws . two cards with replacement from a pack of 52 cards .

What is the chance that he gets both cards of the same suit?

Al

1
B, 5
1
1

C.

—

3
16
2
13

D.

Answer: A

o Watch Video Solution

22. Five persons entered the lift cabin on the groud floor of an 8 floors
house. Suppose that each of them, independent and with equal
probability can leave the cabin at any of floor beginning with the first.
Find put the probability of all five persons leaving at different floors.

A Cs
=


https://dl.doubtnut.com/l/_Sr2crX6gFww8
https://dl.doubtnut.com/l/_ZTwSojMVtpEH
https://dl.doubtnut.com/l/_eN8LVDONe7IR

Answer: C

° Watch Video Solution

23. A fair coin is tossed three times

one tail is

0|3 o|w W~ N+

Answer: D

. The probability that there is atleast

o Watch Video Solution



https://dl.doubtnut.com/l/_eN8LVDONe7IR
https://dl.doubtnut.com/l/_Kf8PBthu0Bz7

24. Three persons work independently on a problem. If the respective
probabilities that they will solve it are 1/3, 1/4 and 1/5, then find the

probability that not can solve it.

w
W= o w o

D. None of these

Answer: A

o Watch Video Solution

25.Three numbers are chosen from 1to 30 . The probability that they are

not consecutive , is

A 142
" 145


https://dl.doubtnut.com/l/_Kf8PBthu0Bz7
https://dl.doubtnut.com/l/_LLaAGrV3BOjx
https://dl.doubtnut.com/l/_BgTd3hFEfryY

B 144
145

o 1
" 145

5 1
" 145

Answer: B

° View Text Solution

26. A group of 4 boys and 3 girls are arranged at random , one after the

other. Probability that girls and boys occupy alternate seats is,

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_BgTd3hFEfryY
https://dl.doubtnut.com/l/_G6ORK7Lucq1j

27. Mr . A gave his telephone number to Mr . B .Mr . B remembers that the
first two digits were 40 and the remaining four digits were two 3s, one 6
and one 8 . He is not certain about the order of the digits . Mr. B dials

403638. The probability that he will get A’ s house is

0|~ &= N

1

D.
12

Answer: D

o Watch Video Solution

28. Three identical dice are rolled. The probability that same number

appears on them, is


https://dl.doubtnut.com/l/_G6ORK7Lucq1j
https://dl.doubtnut.com/l/_mBVNyMsWZkJp
https://dl.doubtnut.com/l/_YJOxJxSL2nMa

1
6
1
36
1
C o5
3
28

oo

Answer: B

o Watch Video Solution

29. All the letters of the word HAMSANANDI are placed at random in a

row. The probability that the word ANAND occurs without getting split is

Answer: C



https://dl.doubtnut.com/l/_YJOxJxSL2nMa
https://dl.doubtnut.com/l/_VLjj3wfhFbJN

| o Watch Video Solution

30. A car is parked by an owner amongst 25 cars in a row, not at either

end. On his return he finds that exactly 15 places are still occupied. The

probability that both the neighboring places are empty is

Answer: B

o Watch Video Solution

31. Three different numbers are selected at random from the set

A=(1,2,3,....,10). The probability that the product of two of the

numbers is equal to the third is


https://dl.doubtnut.com/l/_VLjj3wfhFbJN
https://dl.doubtnut.com/l/_qCaKU5dRvLMP
https://dl.doubtnut.com/l/_z1dmjcnMEi5e
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Answer: B

o Watch Video Solution

32. In shuffling a pack of 52 playing cards, four are accidently dropped;

find the chance that the missing cards should be one from each suit.

Answer: C



https://dl.doubtnut.com/l/_z1dmjcnMEi5e
https://dl.doubtnut.com/l/_kPZ4Kpih2TaS

| ° Watch Video Solution

Critical Thinking Addition Theorem And Conditional Probability

1. If P(A) = 04, P(B) = x, P(AU B) = 0. 7 and the events A and B are

independent, then x =

w
Wi N = W

D. None of these

Answer: B

o Watch Video Solution

2.If A and B are two events such that P(AU B) + P(AN B) = % and

P(A) = 2P(B), then P(A) =


https://dl.doubtnut.com/l/_kPZ4Kpih2TaS
https://dl.doubtnut.com/l/_QmJ4fZu7qncX
https://dl.doubtnut.com/l/_GpK5yTvChQMq

Answer: A

o Watch Video Solution

3.1f A and B are two mutually exclusive events such that P(B) = 2P(A) and

A U B = S,then P(B) is

= W W= | w

Answer: C



https://dl.doubtnut.com/l/_GpK5yTvChQMq
https://dl.doubtnut.com/l/_QQeWFnpNT0Je

| ° View Text Solution

4.The probability that in a throw of two dice we get, an even sum or sum

less than 5 is

o|lot Wl o= N =

Answer: D

° View Text Solution

5.Adie is thrown. Let A be the event that the number obtained is greater

than 3. Let B be the event that the number obtained is less than 5. Then

P(AUB)is


https://dl.doubtnut.com/l/_QQeWFnpNT0Je
https://dl.doubtnut.com/l/_jCjgNbmllIKu
https://dl.doubtnut.com/l/_lCdr1g82ERkk

Al
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D.O

Answer: A

o Watch Video Solution

6.1f Ais an independent event it self then P(A) =

A.O
B.1
C.0,1

D. 1,

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_lCdr1g82ERkk
https://dl.doubtnut.com/l/_1hWN73la7CeT

) 1
7.1f A and B ar two events such that P(A U B) = e P(ANB) = 3

— 1
and P(B = 5) then the events A and B are

A.Independent
B. Mutually exclusive
C. Mutually exclusive and independent

D. None of these

Answer: A

o Watch Video Solution

8. The chances to fail in Physis are 20% and the chances to fail in

Mathematics are 10%. What are the chances to fail in atleast one subject

?

A.0.28


https://dl.doubtnut.com/l/_1hWN73la7CeT
https://dl.doubtnut.com/l/_I4eW4rZm4EUZ
https://dl.doubtnut.com/l/_6WJ0TJqVFVna

B.0.38

C.0.72

D.0.82

Answer: A

° Watch Video Solution

9. Find the probability that a leap year will have 53 Friday or 53 Saturdays.

ENIEEEN ST NN (RSN

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_6WJ0TJqVFVna
https://dl.doubtnut.com/l/_IsthgpMcB4dA
https://dl.doubtnut.com/l/_72l4yakmyGbZ

10. Three athletes A, B and C participate in a race competition. The
probability of winning for A and B is twice of winning for C. Then. the

probability that the race is won by A or B, is

Wl ok N~ w| N

Answer: C

o View Text Solution

11. There are two childrens in a family. The probability that both of them

are boys 1s

W= o=


https://dl.doubtnut.com/l/_72l4yakmyGbZ
https://dl.doubtnut.com/l/_qMpWVi7ZWfuU

W |

Answer: C

o View Text Solution

12. There are 20 cards. Ten of these cards have the letter I printed on
them and the other 10 have the letter I printed on them. If three cards
picked up at random and kept in the same order, the probability of

making word IITis 1/9,1/3b.1/16,1/4c.1/4,1/2d. none of these

ot N co|—= ©o
gle Nle *l= go

Answer: D



https://dl.doubtnut.com/l/_qMpWVi7ZWfuU
https://dl.doubtnut.com/l/_kE8vXfbOnucP

| ¥ vvatch vidaeo sSolution

13. A letter is taken from the word MULTIPLE and another letter is taken

from the word CHOICE, the probability that both letters chosen are

vowels is

Answer: D

o Watch Video Solution

14.In a single throw of two dice, the probability of getting a total of 7 or
9is


https://dl.doubtnut.com/l/_kE8vXfbOnucP
https://dl.doubtnut.com/l/_smz7II2HfMAO
https://dl.doubtnut.com/l/_j2A7McKDJLNI

1
B. —

@)

3
5
118
D —

18

Answer: C

o Watch Video Solution

15. There are two boxes. One box contains 3 white balls and 2 black balls.
The other box contains 7 yellow balls and 3 black balls. If a box is selected
at random and from it, a ball is drawn, the probability that the ball is

black is

0

A
20

7
2
1
5
3
2
1
3

B.
C.
D.


https://dl.doubtnut.com/l/_j2A7McKDJLNI
https://dl.doubtnut.com/l/_G9mv4Jl6FK2l

Answer: A

° View Text Solution

16. A class consists of 80 students 25 of them are girls and 55 boys . If 10

are rich and remaining poor and also 20 of them are intelligent, then the

probability of selecting intelligent rich girls is ,

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_G9mv4Jl6FK2l
https://dl.doubtnut.com/l/_YlHAJiILRZHm

3

17. If and B are two events and P(A):§

P(B) =

1
,P(ANB) = ZthenP(AUB)=

0| ot x| | w o w

Answer: B

° Watch Video Solution

1
18. If P(ANB) = 5, P(ANB) = 7, P(4) = p, P(B) = 2p, then

1
3
find the value of p.



https://dl.doubtnut.com/l/_d0J20Q2UFE9E
https://dl.doubtnut.com/l/_H5D2qvzFoJIv

O

Answer: A

° Watch Video Solution

19.1f M and N are any two events, then the probability that exactly one of

them occurs is

A.P(A) + P(B) —2P(AN B)

B.P(A) + P(B) + P(AN B)

C.p1 + p2 — P12

D.P(A) + P(B)f — P(AN B)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_H5D2qvzFoJIv
https://dl.doubtnut.com/l/_V4iIMLyN7Ozg

20.Two events AandB have probabilities 0.25 and 0050, respectively. The
probability that both AandB occur simultaneously is 0.14. then the
probability that neither A norB occurs is a. 0.39 b. 0.25 c. 0.11 d. none of
these

A.0.39

B.0.375

C.0.49

D.0.59

Answer: A

o Watch Video Solution

21. Out of 80 students in a class , 30 passed in Mathematices , 20 in
Electronics and 10 in both. If one students is selected at random . The

probability that the has passed in none of the subject in


https://dl.doubtnut.com/l/_LKqzAQWRhWCJ
https://dl.doubtnut.com/l/_tvI4cN3SyEas

= W = o] w

Answer: D

o View Text Solution

22.If P(E;) = p; and P(E5) = py; and E; and E, are independent then
P( neither E; nor E,)=

A(1-=p)(1—p)

B.1— (p1 +p2)

C.p1 +p2 + pip2

D.pi — 2

Answer: A



https://dl.doubtnut.com/l/_tvI4cN3SyEas
https://dl.doubtnut.com/l/_hlJua4SlOEkO

| o Watch Video Solution

23. The probability that a man will live 10 more years is 1/4 and the
probability that his wife will live 10 more years is 1/3. Then the

probability that neither will be alive in 10 years, is

=] = = N = =
w|+—\ w|\‘ | w|°“

Answer: B

o Watch Video Solution

24. If the probability that A and B will die within a year are p and q
respectively, then the probability that only one of them will be alive at the

end of the year, is


https://dl.doubtnut.com/l/_hlJua4SlOEkO
https://dl.doubtnut.com/l/_OuOhkL9zuf3f
https://dl.doubtnut.com/l/_P7z930J0Xiwp

Ap+q

B.p+q— 2pq

Cp+q—pg

D.p+q+ pq
Answer: B

o Watch Video Solution

25. A speaks truth in 60% of cases, while B in 90% of the cases. In what
percent of cases are they likely to contradict each other in stating the

same fact?

A
12
1
8. 5
c. L
12
11
D.E


https://dl.doubtnut.com/l/_P7z930J0Xiwp
https://dl.doubtnut.com/l/_87iCZ216y42S

Answer: C

° Watch Video Solution

26. Let E and F be two independent events . The probability that neither

1
happens is 2 .Then

1 1
A P(E) = 02, P(F) = ;

1 1
8.P(E) = -, P(F) = ¢

1 1
C.P(E) = ¢, P(E) = 45

1 1
D.P(E) = Z’PE: §

Answer: D

° View Text Solution

A
27.1f A and B are two independent events then P (E) =


https://dl.doubtnut.com/l/_87iCZ216y42S
https://dl.doubtnut.com/l/_laK0YYk6lge8
https://dl.doubtnut.com/l/_B07CFcR1ZZOM

A.O
B.1
C. P(A)

D. P(B)

Answer: C

o View Text Solution

28.If A and B are tow events such that A C B then P<§)=

A.O
B.1
c.1/2

D.1/3

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_B07CFcR1ZZOM
https://dl.doubtnut.com/l/_vVbDTHgI1oLq

29, i

?

P(A) = %,P(B) = %a,nd P(ANB) = % then P(B/A)

Answer: A

o Watch Video Solution

30. Ina certain town, 40% of the people have brown hair, 25% have brown
eyes, and 15% have both brown hair and brown eyes. If a person selected
at random from the town has brown hair, the probability that he also has

brown eyesis1/5b.3/8¢c.1/3d.2/3


https://dl.doubtnut.com/l/_vVbDTHgI1oLq
https://dl.doubtnut.com/l/_9CcpDcL7XvN9
https://dl.doubtnut.com/l/_hxA41nzNtcqY

Wl W= o|w o=

Answer: B

o Watch Video Solution

31. If A and B are two events with

P(A) = %,P(A/B) = % and P(B/A) = %then

A. A and B are mutually exclusive
B. A and B are independent
C.Ais sub event of B

D.B is sub - events A

Answer: B



https://dl.doubtnut.com/l/_hxA41nzNtcqY
https://dl.doubtnut.com/l/_QYdkOp1ArxeK

| ° View Text Solution

Critical Thinking Bayes Theorem And Odds

1. Bag A contains 4 green and 3 red balls and bag B contains 4 red and 3

green balls. One bag is taken at random and a ball is drawn and noted it

is green. The probability that it comes from bag Bis

W= Nlw w N

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_QYdkOp1ArxeK
https://dl.doubtnut.com/l/_ESCI9cMHlHlM

2. There are 3 bags which are known to contain 2 white and 3 black, 4
white and 1 black, and 3 white and 7 black ball, respectively. A ball is drawn
at random from one of the bags and found to the black ball. Then the
probability that it was drawn from the bag containing the most black ball

is7/15b.5/19 c.3/4 d. none of these

5|\1 ] o E‘lm ;|\1

Answer: A

o Watch Video Solution

.U AT F IR ASNde fh gg 4 § A 3 IR I SidAdT gl 98 Uh U I
3BTAdT & 3R FdeTdr € 6 39 R 37 dTell T 6 g1 29 P iR siid HifSv
o U 317 aTel T 9Rad H 6 &1


https://dl.doubtnut.com/l/_rVCBDDfo7gLA
https://dl.doubtnut.com/l/_hux2JVQfxRvR

AR k| w o~ oo w

Answer: A

o Watch Video Solution

4.1n an entrance test, there are multiple choice questions. There are four
possible answers to each question, of which one is correct. The
probability that a student knows the answer to a question is 90%. If the
gets the correct answer to a question, then find the probability that he

was guessing.

N
40

Bl
37

36

C. —=
37


https://dl.doubtnut.com/l/_hux2JVQfxRvR
https://dl.doubtnut.com/l/_dSAu5nW9kc1j

Answer: B

° Watch Video Solution

5. A letter is known to have come either from LONDON or CLIFTON, on the
postmark only the two consecutive letters ON are eligible. The probability

that it come from LONDON is

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_dSAu5nW9kc1j
https://dl.doubtnut.com/l/_NibC1EnqqVUN
https://dl.doubtnut.com/l/_QP4IEDZ2X78B

6. The odds in favour of the occurrence of an event are 3:5. Find the

probability of the non-occurrence of the event.

wo| ot 0| w w|ot ot w

Answer: D

o Watch Video Solution

7. An event has odds in favour 4 : 5, then the probability that event

occurs, is

@ >

N
Ok G o


https://dl.doubtnut.com/l/_QP4IEDZ2X78B
https://dl.doubtnut.com/l/_x1HxF27LXdvX

Answer: C

° View Text Solution

8. One of the two events must occur. If the chance of one is 2/3 of the

other, then odds in favour of the other are

A1:3

B.3:1

C.2:3

D.3:2

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_x1HxF27LXdvX
https://dl.doubtnut.com/l/_qst4AcMFn8Zl

9.1n a horse race the odds in favour of these horse are 1:2, 1:3 and 1:4.The

probability that one of the horse will win the race is

37
60
a7
60

N U NG

Answer: B

o View Text Solution

10. A purse contains 4 copper coins, 3 silver coins and the second purse
contains 6 copper coins and 2 silver coins. If a coins is taken out of any

purse then what is the probability that it is a copper coin.

ad
7

5, 31
" 56


https://dl.doubtnut.com/l/_Ukkp2aqbci18
https://dl.doubtnut.com/l/_OBNsZd3sIVSb

> w | w

Answer: B

o Watch Video Solution

11. A card

A.17:52

B.52:17

C.9:4

D.4:9

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_OBNsZd3sIVSb
https://dl.doubtnut.com/l/_67NeHflCYIPX

12. Three ships A, B, andC sail from England to India. If the ratio of their
arriving safely are 2:5, 3:7, and 6:11, respectively, then the probability of all

the ships for arriving safely is 18 /595b.6/17¢.3/10d.2/7

A 18
" 595

Answer: A

o Watch Video Solution

13. The odds against a certain event is 5 : 2 and the odds in favour of
another event is 6 : 5. If the both the events are independent, then the

probability that at least one of the events will happen is

A 50
T


https://dl.doubtnut.com/l/_4zeirNKL8Oos
https://dl.doubtnut.com/l/_qx6QBw6SHc8K

52
ST
25
" 88
63
" 88

Answer: B

° Watch Video Solution

Competitive Thinking Algebra Of Events Concept Of Probabiltiy

1. Two dice are thrown simultaneously. the probability of obtaining a total

score of 5is a.1/18 b.1/12 c. 1/9 d. none of these

sl- gl gle -


https://dl.doubtnut.com/l/_qx6QBw6SHc8K
https://dl.doubtnut.com/l/_YSmXxYQqkX95

Answer: A

° Watch Video Solution

2. If two dice are thrown simultaneously, then the probability that the

sum of the numbers which come upon the dice to be more than 5 is

Answer: C

° Watch Video Solution

3. If two balanced dice are tossed once, the probabiltiy of the event the

sum of the integers coming on the upper sides of the two dice is 9 is .


https://dl.doubtnut.com/l/_YSmXxYQqkX95
https://dl.doubtnut.com/l/_NRHJMA9ldynl
https://dl.doubtnut.com/l/_T3B1QExFL5Ck

S| = O gg'm §|\]

Answer: C

o View Text Solution

4. Find the probability of getting total of 5 or 6 in a single throw of two

dice.

S| = Wk A= =

Answer: B



https://dl.doubtnut.com/l/_T3B1QExFL5Ck
https://dl.doubtnut.com/l/_RPPTUZuSllr4

| ° Watch Video Solution

5.In a simultaneous throw of a pair of dice, find the probability of getting

a total more than 7.

Answer: C

° Watch Video Solution

6. Two dice are rolled. What is the Probability that the score is a prime

number?

A1
2


https://dl.doubtnut.com/l/_RPPTUZuSllr4
https://dl.doubtnut.com/l/_bSQpIY690rFI
https://dl.doubtnut.com/l/_oYafoilfSY1d

)
B.E

1
C.E

D. None of these

Answer: B

° Watch Video Solution

7.Two dice are thrown simultaneously. What is the probability of getting

1 3 3 5
. 5 T 9 o o
two numbers whose product is even? 5 (b) 1 (c) 3 (d) 6

O
W R = ]| w

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_oYafoilfSY1d
https://dl.doubtnut.com/l/_xYHUhdlw88kK

8. The chance of the thorwing at least 9 in a single throw with two dice is

Answer: B

o View Text Solution

9. Form the word POSSESSIVE ,a letter is chosen at random. The

probability of it to be S is


https://dl.doubtnut.com/l/_xYHUhdlw88kK
https://dl.doubtnut.com/l/_zvdmS0uz8fjN
https://dl.doubtnut.com/l/_tvLRRyAzfM5b

Answer: B

° Watch Video Solution

10. A single letter is selected form the word TRICKS.The probability that it

is either TorR is .
A 1
" 36

1
4
1
C5
1
3

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_tvLRRyAzfM5b
https://dl.doubtnut.com/l/_xj3seqxydZBD

11. A coin is tossed n times. The probability that head will turn up an odd

number of times , is

Al
2
1

B.
2n

27L—1

D. None of these

Answer: A

o Watch Video Solution

12. If a die is rolled three times then the probability of gettinh a larger

number on its face the

15

A 216
5

B. —
54

c 13
216


https://dl.doubtnut.com/l/_WUxSwkBWrGSx
https://dl.doubtnut.com/l/_eEj7ynSY0dqx

Answer: B

° View Text Solution

13.If 3 coins were tossed , then probability of getting 2 heads is

o= ool =
= ol e

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_eEj7ynSY0dqx
https://dl.doubtnut.com/l/_WEAuMKip85Ly

14. Three unbaised conis are tossed. The probability of getting at least 2

tails is

Wl R R, R w

Answer: C

o Watch Video Solution

15. Three dice are thrown simulatenously what is the probability of

obtaining a total of 17 or 18

NeX i

2= J=


https://dl.doubtnut.com/l/_iyn1lBa2K2QO
https://dl.doubtnut.com/l/_ZBdyE6ZtLei2

D. None of these

Answer: C

° Watch Video Solution

16. The corrners of regular tetrahedrons are number 123,4. Three
tetrahedrons are tossed . The probability that the sum of upward corners

will be 5is .

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ZBdyE6ZtLei2
https://dl.doubtnut.com/l/_En7cVHhI9SW9
https://dl.doubtnut.com/l/_BrbR3vxkfJvg

17. A box contains 6 red marbles numbers form 1 through 6 and 4 white

marbles 12 through 15. Find the probability that a marble drawn at

random is white odd numbered.

A5

N

O
U= o

Answer: D

o View Text Solution

18. Two balls are selected from two black and two red balls. The

probability that the two balls will have no black balls is

>
(S TSN |

@


https://dl.doubtnut.com/l/_BrbR3vxkfJvg
https://dl.doubtnut.com/l/_QlE2gDTzZw11

N

o
|~ |

Answer: D

° View Text Solution

19. A Flashlight has 10 batteries out of which 4 are dead If 3 batteries are

selected without replacement and tested, then the probability that all 3

are dead is

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_QlE2gDTzZw11
https://dl.doubtnut.com/l/_IManIquGcCid

20. From 4 red balls, 2 white balls and 4 black halls , four halls are

selected . The probability of getting 2 red balls is

Answer: C

o View Text Solution

21. A letter is taken out at random from 'ASSISTANT and another is taken

out from 'STATISTICS. The probability that they are the same letters, is


https://dl.doubtnut.com/l/_IManIquGcCid
https://dl.doubtnut.com/l/_LOZSq7SJtsf4
https://dl.doubtnut.com/l/_H2pbM4SrjGte

Answer: C

° Watch Video Solution

22. A bag contains 5 red balls, 3 black balls and 4 white balls. 3 balls are

drawn at random . The probability that they are not of same colour is

N
44

B 31
44

21

C'ﬂ

o4
44

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_H2pbM4SrjGte
https://dl.doubtnut.com/l/_f41D6Irph77I
https://dl.doubtnut.com/l/_wYdx07Est06v

23. A box contains 6 nails and 10 nuts. Half of the nails and half of the
nuts are rusted. If one item is chosen at random, then find the probability

that it is rusted or is a nail.

Answer: C

o Watch Video Solution

24, Two integers are chosen at random and multiplied. Find the

probability that the product is an even integer.

Wi N =


https://dl.doubtnut.com/l/_wYdx07Est06v
https://dl.doubtnut.com/l/_MovNf45p0rdW

ok ] w

Answer: B

° Watch Video Solution

25. Write the probability that a number selected at random from the set

of first 100 natural numbers is a cube.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_MovNf45p0rdW
https://dl.doubtnut.com/l/_WXFCJHSt51JE
https://dl.doubtnut.com/l/_l3NLoDA8wtRY

26. An integer is chosen form {2k/ — 9k < k < 10} . The probability

that it is divisble by both 4 and 6 si

[\ B~ = N [
o|°° | c>|’—‘ o|'—‘

Answer: D

o View Text Solution

27. The probability that a non-leap your selected at random will contain

53 Sunday is

A.O

LIRS e


https://dl.doubtnut.com/l/_l3NLoDA8wtRY
https://dl.doubtnut.com/l/_pkUTlzxVf06P

Answer: B

° Watch Video Solution

28.Two dice, one black and one white are rolled. The probability that sum

of two no is 7 and no. of black greater than the no. of white is

Y I N e N §|'—‘

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_pkUTlzxVf06P
https://dl.doubtnut.com/l/_ya0zAgS9rvvt

29. Two cards are drawn at random from a pack of 52 cards. Find the

probability that they are both Aces if the first card is not replaced

Answer: B

o View Text Solution

30. A bag contains 17 tickets, numbered from 1 to 17. A ticket is drawn and
another ticket is drawn without replacing the first one. Find the

probability that both the ticket may show even numbers.


https://dl.doubtnut.com/l/_zzoxXOvUjdpI
https://dl.doubtnut.com/l/_0i3N8qQl92sa

Answer: A

° Watch Video Solution

31.If the letters of the word PROBABILITY are written down at random in a

row, the probability that two B-s are retogether is

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_0i3N8qQl92sa
https://dl.doubtnut.com/l/_7u0gn1Sdod70
https://dl.doubtnut.com/l/_fOWnYbrwMGNg

32. Letters in the word HULULULU are rearranged. The probability of all

three L being together is

A3
" 20

2
5
3
Cog
5
23

Answer: C

o Watch Video Solution

33.26 cards numbered from 1to 26. One card is chosen. Probability that it

is not divisible by 4


https://dl.doubtnut.com/l/_fOWnYbrwMGNg
https://dl.doubtnut.com/l/_5JnRvwdOcZMZ

10
13

Answer: D

° Watch Video Solution

34. A coin is tossed four times. The probability that atleast one heads

turns up is

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_5JnRvwdOcZMZ
https://dl.doubtnut.com/l/_cA3cqV7twwMb

35.1n a throw of three dice, the probability that at least one die sows up

91

" 216
s

36

125

> 216

Answer: B

o View Text Solution

36. The probability that an event will fail to happen is 0.05. The

probability that the event will take place on 4 consecutive occasions is
A. 0.00000625
B. 0.18543125

C. 0.00001875


https://dl.doubtnut.com/l/_sJsKKUgvpHgH
https://dl.doubtnut.com/l/_B7iihsJIOpzd

D. 0.81450625

Answer: D

° Watch Video Solution

1

11
37. Probability of solving of sum correctly by A B and C is 33 and 5

respectively. The probability that at least one of them solves it correctly is

A 11
15

B &
" 15

C1
20

b 19
" 20

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_B7iihsJIOpzd
https://dl.doubtnut.com/l/_dRcbq1Gncp3o

38. Three plyaers AB and C play a game . The probability that AB, and C

11 1
will finish the game are respectively 23 and T The probability that

the game is not finished is

B.1

N U NG

Answer: D

o View Text Solution

39. There are 5 red balls and x black balls . If two balls are drawn at

5
random , probability that the balls drawn are red is —, find the value of

x?

A.9


https://dl.doubtnut.com/l/_tNlMelwgL6SN
https://dl.doubtnut.com/l/_Snav9uyp8xHI

B.12

C.3

D.6

Answer: C

o View Text Solution

40.There are four machines and it is known that exactly two of them are
faulty. They are tested , one by one , in a random order till both the faulty

machines are identified. Then the probability that only two tests are

needed is

1
A.g
1
B.E
1
C.E
1
D.Z


https://dl.doubtnut.com/l/_Snav9uyp8xHI
https://dl.doubtnut.com/l/_pcugwDoarGWv

Answer: B

° View Text Solution

41. In four schools By, By, B3, B, the percentage of girls students is
12,20,13,17 respectively. From a school selected at random, one student is
picked up at random and it is found that the student is a girl. The

probability that the school selected is B, , is

31

10
31

13
62

17
62

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_pcugwDoarGWv
https://dl.doubtnut.com/l/_8vYHEmSMtViY

42. 7 white balls and 3 black balls are kept randomly in order. Find the

probability that no two adjacent balls are black.

@ >
W = E'N Glﬂ | =

N

o

Answer: B

° Watch Video Solution

Competitive Thinking Addition Theorem And Conditional Probability

1. If A and B are two events such that

P(A) = 0.4, P(AU B) = 0.7 and P(A N B) = 0.2 then P(B)=

A 0.1


https://dl.doubtnut.com/l/_LKEBXj789yK0
https://dl.doubtnut.com/l/_kVyfIIiI4EW8

B.0.3

C.0.5

D. None of these

Answer: C

° Watch Video Solution

2.Let A and B be two events such that P(A) = 0.3 and P(A U B) = 0.8.

If Aand B are independent events, then P(B) =

ol ofw ot o ot

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_kVyfIIiI4EW8
https://dl.doubtnut.com/l/_sgxTKWfeR1b8

3.1f P(A) = 0.4P(B) = z, P(A U B) = 0.7 and the events A and B are

mutually exclusive, then x =

Gl = ON N|= =
| | = 5l

Answer: A

° Watch Video Solution

4.The probabilities of three mutually exclusive events are 2/3, 1/4, and 1/6.

Is this statement correct?

A. Ture

B. Wrong


https://dl.doubtnut.com/l/_sgxTKWfeR1b8
https://dl.doubtnut.com/l/_8eqg6nsxxSNZ
https://dl.doubtnut.com/l/_pyHEjLkNsOQk

C. Could be either

D. Do not know

Answer: B

° Watch Video Solution

5.For two given events Aand B P(A N B)=

A. Not less than P(A) + P(B) -1
B. Not greater than P(A) + P(B)
C.Equal to P(A) + P(B) — P(AU B)

D. All of the above

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_pyHEjLkNsOQk
https://dl.doubtnut.com/l/_zMcQJYmqmhzd

6. P(A cup B)=P(A cap B)" if and only if the relation between P(A) and P(B) is

B.P(AUB) = P(A' N B’)
C.P(A) = P(B)

D. None of these

Answer: C

o Watch Video Solution

7.1n a class, 60% of the students know lesson |, 40 % know lesson Il and 2
0 % know lesson | and II. A student is sele c t e d at nmdom . The

probability th a t th e s tud e nt does not know | e sson land |l esson Il is .


https://dl.doubtnut.com/l/_jKBsbUrLFfxo
https://dl.doubtnut.com/l/_3VNh0SK7RCJo

N

O
ol = o w

Answer: C

o View Text Solution

8. A dice is tossed once and even number has come up. The probability

that it is either 2 or 4 is

N w >

O
B2l N~ W W=

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_3VNh0SK7RCJo
https://dl.doubtnut.com/l/_3fdCnkSCmHek
https://dl.doubtnut.com/l/_ugmE8tQ01imh

9.Adie is thrown. Let A be the event that the number obtained is greater

than 3. Let B be the event that the number obtained is less than 5. Then

P(A U B)is (1) % (2)0(3)1(4) %

Al

ol w o

D.O

Answer:

o Watch Video Solution

10. Three numbers are chosen at random without replacement from

{1,2,3,..10}. The probability that the minimum of the chosen number is 3

or their maximum is 7, is:


https://dl.doubtnut.com/l/_ugmE8tQ01imh
https://dl.doubtnut.com/l/_QlPSKS9Uw2fj

Answer: D

o Watch Video Solution

11. A bag contains 4 red and 6 blach balls O balls is drawn at random from
the bag, its colour is observed and this ball along with two addibonal
balls of the same colour are returnted to the bag, then the probabilaty

then the drawn ball is red, is

N

o
5|c,o Bl ok |


https://dl.doubtnut.com/l/_QlPSKS9Uw2fj
https://dl.doubtnut.com/l/_hI2H63vpR0YN

Answer: A

° Watch Video Solution

12. The Probability that at least one of the events F; and E5 will occur is
0.6. If the probability of their occurrence simultaneously is 0.2, then find
P(F?l) + P(E2)

A 0.4

B.0.8

C.1.2

D.1.4

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_hI2H63vpR0YN
https://dl.doubtnut.com/l/_uQHwi5sejfY7

13. The probability that at least one of the events A and B occurs is 3/5. If

A and B occur simultaneously with probability 1/5, then P(A') + P(B') is

g oo ok o

Answer: C

o Watch Video Solution

1
,P(ANB) = 3 then P(A U B) is equal

e
&
I
ol N

.17 P(4) = ¢

to.

OY s O = =
| = 2w


https://dl.doubtnut.com/l/_O2DgIozinffF
https://dl.doubtnut.com/l/_Zt4uPC7fCqzv

Answer: A

° Watch Video Solution

15.1f P(A) = 0.7, P(B) = 0.4, P(A N B) =03, then P(AN B’) =
A2
"5
B.1

C.0.7

D. 0.42

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Zt4uPC7fCqzv
https://dl.doubtnut.com/l/_PFTAKZ2kZCGs

16. Let A and B be events for which P(A) = x, P(B) =y, P(A N B) = zthen
P(A U B) equals

A(l—=2)y

B.l—z+y

Cz+t+y—=z

D.l—z+y

Answer: C

o Watch Video Solution

17.1f P(A) = 0.25, P(B) = 0.50, P(A N B) = 0. 14 then P(A N B)

A.0.38
B.0.39
C.0.40

D. None of these



https://dl.doubtnut.com/l/_svxdX88xKpbb
https://dl.doubtnut.com/l/_dmuMnEWXIqmn

Answer: B

° Watch Video Solution

8. If P(A =PB)=zx and P(ANB)=0.14, then

Answer: A

° Watch Video Solution

3 1
19. Given P(A) = 5 and P(B) = 5 Find P(AorB), if A and B are

mutually exclusive events.



https://dl.doubtnut.com/l/_dmuMnEWXIqmn
https://dl.doubtnut.com/l/_rKfKYkgAtE0D
https://dl.doubtnut.com/l/_0uwithw4COec

A.0.8

B.0.6

C.04

D.0.2

Answer: A

o Watch Video Solution

20. A coin is tossed and a die is rolled. The probability that the coin shows

head and the die shows 3 is



https://dl.doubtnut.com/l/_0uwithw4COec
https://dl.doubtnut.com/l/_98MKdhk9lEUB

| o View Text Solution

21. Two dice are thrown and two coins are tossed simultaneously. The

probability of getting prime numbers on both the dice along with a head

and a tail on the two coin is

@ >
NG 5|w | = oo =

N

o

Answer: A

o Watch Video Solution

22.The probability of happening of an event A is 0.5 and that of B is 0.3. If

A and B are mutually exclusive events, then the probability of neither A

.....


https://dl.doubtnut.com/l/_98MKdhk9lEUB
https://dl.doubtnut.com/l/_GNi9fz2tKEto
https://dl.doubtnut.com/l/_FdYVr7kTXTBD

A 0.4

B.0.5

C.0.2

D.0.9

Answer: C

o Watch Video Solution

23. Two events A and B will be independent, if(A) A and B are mutually
exclusive(B) P(A'B’) = [1 — P(A)|[1 — P(B)|(c) P(A) = P(B) (D)

P(A) + P(B) = 1

A. A and B are mutually exclusive.

B.P(AN B) = (1 P(A))(1 - P(B))

D.P(A) + P(B) = 1


https://dl.doubtnut.com/l/_FdYVr7kTXTBD
https://dl.doubtnut.com/l/_qK0oaJeFVe9P

Answer: B

° Watch Video Solution

24, If A and B are two independent events such that
P(A) = 0.40, P(B) = 0.50.Find P(neither A nor B).

A.0.90

B.0.10

C.0.2

D.0.3

Answer: D

° Watch Video Solution

25. If A and B are events having probabilities

P(A) = 0.6, P(B) = 0.4 and P(A N B) = 0 then the probability that


https://dl.doubtnut.com/l/_qK0oaJeFVe9P
https://dl.doubtnut.com/l/_kMVP5nAdbWPG
https://dl.doubtnut.com/l/_CqNYNRyCHwA8

neither A nor B occurs is

Answer: D

o Watch Video Solution

26. If the probabilities for A to fail in anexamination is 0.2 and that for B is

0.3, then the probability that either A or B fails is

A 0.5

B.0.6

C.0.6

D. None of these


https://dl.doubtnut.com/l/_CqNYNRyCHwA8
https://dl.doubtnut.com/l/_3hjoGtNsc6Ux

Answer: B

° Watch Video Solution

27. The probability that a man will live 10 more years is 1/4 and the
probability that his wife will live 10 more years is 1/3. Then the

probability that neither will be alive in 10 years, is

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_3hjoGtNsc6Ux
https://dl.doubtnut.com/l/_WwOyT4yR7Ard

28. A coin is tossed three times.

Event A: two heads appear

Event B: last should be head

Then identify whether events A and B are independent or not.
A.independent
B. dependent

C. both

D. none of these

Answer: B

o Watch Video Solution

— 2 — 2
29.If the events A and B are independent ifP(A) =3 and P(B) =

,then P(A N B) is equal to



https://dl.doubtnut.com/l/_xbWKZV58WpGM
https://dl.doubtnut.com/l/_P1IBjDUmnaSA

Answer: B

° Watch Video Solution

30. If A and B are two independent events such that

P(B) P(A U B) = 0.8then P(A4) =

==
A 0.1
B.0.2
C.0.3

D.0.4

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_P1IBjDUmnaSA
https://dl.doubtnut.com/l/_zYnb5de1YbRY

3. For any two independent  events  Fj and E,

P{(EyUE) N (E,NE}is

1
A.<E
1
B.>Z
>4
T2

D. None of these

Answer: A

o Watch Video Solution

32. Let A and B be two events such that

1 1 — 1 —
P(AUB) = rx P(ANB) = 1 and PA = Z,Where A stands for

complement of event A. then , events A and B are

A. mutually exclusive and independent


https://dl.doubtnut.com/l/_zYnb5de1YbRY
https://dl.doubtnut.com/l/_8TpfK8w7AiYQ
https://dl.doubtnut.com/l/_ie3yTj0IxcQy

B. independent but not equally likely
C. equally likely but not independent

D. equally likely and mutually exclusive

Answer: B

° Watch Video Solution

33.IF A and B are independent events of a random experiment such that

1 - — 1
P(ANB) = 5 and P(ANB) = 3 , then P(A) is equal to

N w >
Wl o=k wWmk =

o

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_ie3yTj0IxcQy
https://dl.doubtnut.com/l/_r1NdblenoRxg

34.Two aeroplanes | and Il bomb a target in succession. The probabilities
of I and Il scoring a hit correctly are 0.3 and 0.2 respectively. The second
plane will bomb only if the first misses the target. The probability that the
target is hit by the second plane is

A.0.2

B.0.7

C.0.06

D.0.14

Answer: D

o Watch Video Solution

35. A company produces 10,000 items per day. On a particular day 2500
items were produced on machine A, 3500 on machine B and 4000 on

machine C. The probability that an item produced by the machines. A, B, C


https://dl.doubtnut.com/l/_r1NdblenoRxg
https://dl.doubtnut.com/l/_wakeg2dakQIG
https://dl.doubtnut.com/l/_Ocol95MBBqHb

to be defective is respectively 2%, 3% and 5 %. If one item is selected at
random from the output and is found to be defective, then the

probability that it was produced by machine C, is

A E
T
16

T
40

T
21

D. —
71

Answer: C

o Watch Video Solution

36. A, B, C are any three events. If P(S) denotes the probability of S
happening, then P(AN (BUC))=

A.P(A)+ P(B)+ P(C) —P(ANnB) —P(ANCQC)

B. P(B) + P(B) + P(C) — P(B)P(C)

CP(ANB)+P(ANC)—-PANBNYV)


https://dl.doubtnut.com/l/_Ocol95MBBqHb
https://dl.doubtnut.com/l/_bg7w5DnNNuCt

D. None of these

Answer: C

° Watch Video Solution

nymBy:%PmﬂBmG):%amLHZmBay:%tmn

P(BNC) =
1
12

8. >
4
2
12

b 23
" 60

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_bg7w5DnNNuCt
https://dl.doubtnut.com/l/_n9TIZr8NkrJ5

38. A student appears for tests 1, 2 and 3. The student is successful if he
passes either in tests 1 and 2 or tests 1 and 3. The probabilities of the

1
student passing in tests 1, 2 and 3 are p, q and 7 respectively. If the

1
probability that the student is successful is 3 then

Ap(l+gq =1
B.gq(l1+p) =1
Cpg=1

1
D.— 4+ —=1
P q

Answer: A

o Watch Video Solution

39. From a pack of 52 cards, two are drawn one by one without

replacement. Find the probability that both of them are kings.


https://dl.doubtnut.com/l/_azepyyj9ZrIU
https://dl.doubtnut.com/l/_ZWlm85DQUhBG

B 1
" 169

c 1
1221

b 30
221

Answer: C

o Watch Video Solution

40.From a pack of 52 cards, two cards are drawn, the first being replaced

before the second is drawn. What is the probability that the first is a

diamond and the second is a king ?

A 1
" 26
B 17
2704

cl
" 52

D. None of these

Answer: C

[ -



https://dl.doubtnut.com/l/_ZWlm85DQUhBG
https://dl.doubtnut.com/l/_iEOdjx4E5bzT

| @ Watch Video Solution

41. A bag contains 3 black and 4 white balls. Two balls are drawn one by

one at random without replacement. The probability that the second

drawn bajl is white, is

>

o
~ —
3| 3| @|ﬂ>

N

Answer: C

o View Text Solution

42. The probability of India winning a test match against West Indies is
1/2. Assuming independence from match to match, find the probability

that in a match series Indias second win occurs at the third test.


https://dl.doubtnut.com/l/_iEOdjx4E5bzT
https://dl.doubtnut.com/l/_S2t6iMBw3YAK
https://dl.doubtnut.com/l/_wwauQTZNpoLM

o= = N = W

Answer: C

o Watch Video Solution

4
43.The probability that A speaks truth is 5 while this probability for B is

3
T The probability that they contradict each other when asked to speak

on a fact is

Q)
[\] [\~ O = oY
o|°° ol\‘ | |


https://dl.doubtnut.com/l/_wwauQTZNpoLM
https://dl.doubtnut.com/l/_MPJ2IHK6hexa

Answer: C

° Watch Video Solution

4
44. The probability that A speas truth is 5 while this porbability for B is
3
5 The probability of atleast one of them is true when asked to speak on

an event is

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_MPJ2IHK6hexa
https://dl.doubtnut.com/l/_dVaaxHJxu61k

45. X speaks truth in 60% and Y in 50% of the cases. Find the probability

that they contradict each other narrating the same incident.

Wi N R W R A=

Answer: C

o Watch Video Solution

46. A speaks the truth in 70% cases and B in 80% cases. The probability
that they will contradict each other in describing a single event is

A.0.56

B.0.42

C.04


https://dl.doubtnut.com/l/_1P0gHtKXt1tp
https://dl.doubtnut.com/l/_SusucbUy0jp2

D.0.38

Answer: D

° View Text Solution

47.1n a certain town, 60% of the families own a car, 30% own a house and
20% own both car and house. If a family is randomly chosen, then what is
the probability that this family owns a car or a house but not both?

A.0.5

B.0.7

C.0.1

D.0.9

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_SusucbUy0jp2
https://dl.doubtnut.com/l/_0rHYhcuf098S
https://dl.doubtnut.com/l/_4g4wXi1wvOWt

48. A husband and wife appear in an interview for two vacancies for the
same post. The probability of husbands selection is 1/7 and that of wifes
selection is 1/5. What is the probability that Both of them will be

selected? Only one of them will be selected? None of them will selected?

1
A.7
2
3.7
.3
7

D. None of these

Answer: B

o Watch Video Solution

49. A problem is given to 3 students. Their chances of solving it

11 1
individually are 37 and T The probability that the problem will be

) 2 3 4 1
solved is (A) 5 (B) T (Q) 5 (D) 3

A2
"3


https://dl.doubtnut.com/l/_4g4wXi1wvOWt
https://dl.doubtnut.com/l/_Y2Wcrd24IBS3

N
ol w ol | w

Answer: D

o Watch Video Solution

50. The probabilities of solving a question by three students are
1 11
2’4’6
33 35 31 37
be — (b) — (¢) —— (d) —
48 48 48 48

respectively. The probability of the equation being solved will

33
A
48

Answer: A

[ - 1


https://dl.doubtnut.com/l/_Y2Wcrd24IBS3
https://dl.doubtnut.com/l/_N6qOimuC6r4S

| @J Watch Video Solution

51.1f 4 P(A) =6 P(B) =10 P(A N B) = 1 then P(g) —

A.

—_ = ol e ot o
|©o|“‘| |

—
o

Answer: A

° Watch Video Solution

52.1f P(S) = 0.3, P(T) = 0.4, S and T are independent events, then P(S/T)

A.0.2

B.0.3

C.0.12


https://dl.doubtnut.com/l/_N6qOimuC6r4S
https://dl.doubtnut.com/l/_QEqjz0pof4YZ
https://dl.doubtnut.com/l/_tzIHIVCxG7p2

D.0.4

Answer: B

° Watch Video Solution

53.If P(AN B) = 1—70 and P(B) = ;—g,then P(A/B) equals to

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_tzIHIVCxG7p2
https://dl.doubtnut.com/l/_ZiYGLWqGvigM

54. it is given that the events A and B are such that

1 A 1 B 2

Answer: D

o Watch Video Solution

55. If two events AandB are such that
P(A°) =0.3,P(B) =0.4,andP(A N B°) = 0.5, then find the value

of P[B/(A U B)].

>

w
W= N =


https://dl.doubtnut.com/l/_jGbrSqpjJ1BL
https://dl.doubtnut.com/l/_rYBlO8hRlk5B

c1
4

D. None of these

Answer: C

° Watch Video Solution

56. A coin is tossed three times in succession. If E is the event that there
are at least two heads and F is the event in which first throw is a head,

then P(E/F) is equal to:

0| = N —= oo|w | w

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_rYBlO8hRlk5B
https://dl.doubtnut.com/l/_eYYKsSbOZMn9

57.Ram is visiting a friend. Ram knows that his friend has 2 children and 1
of them is a boy. Assuming that a child is equally likely to be a boy or a

girl, then the probality that the other child is a girl is

>

5|\] W W= N

o

Answer: A

o Watch Video Solution

58. One ticket is selected at random from 50 tickets numbered 00, 01, 02,
.., 49. Then the probability that the sum of the digits on the selected
ticket is 8, given that the product of these digits is zero, equals (1) 1/14 (2)

1/7 (3) 5/14 (4) 1/50


https://dl.doubtnut.com/l/_eYYKsSbOZMn9
https://dl.doubtnut.com/l/_TMBWlngNz3KD
https://dl.doubtnut.com/l/_v9KJ7QbQldcl

(S —
»-lk|'_‘

— N
= B|e I

[0
(e}

Answer: A

o Watch Video Solution

59. In a class, 40% of students study maths and science and 60 % of
student study maths. What is the probability of a student studying

science given the student is already studying maths?

U= W o= W=


https://dl.doubtnut.com/l/_v9KJ7QbQldcl
https://dl.doubtnut.com/l/_NwSRko9Mejc6

Answer: C

° Watch Video Solution

60. If A and B are two events such that P(A U B) = P(A N B) then the

true realtion is
A.P(A)+P(B) =0
8. P(A) + P(B) = P(A)P g)
C.P(A) + P(B) = 2P(A)P(§>

D. None of these

Answer: C

° View Text Solution

61. For any two events A and B in a sample space


https://dl.doubtnut.com/l/_NwSRko9Mejc6
https://dl.doubtnut.com/l/_VRu5ZkED4aPg
https://dl.doubtnut.com/l/_CoPYweH8kpji

, P(B) # 0is always true

A\ _ P(A)+P(B) -1
A'P(E)Z P(B)

B.P(ANB) = P(A) — P(AnN B) does not hold
CP(AUB)=1- P(Z)P(E), if Aand B are a disjoint

D. None of these

Answer: A

o Watch Video Solution

62. If E and Fare independent events such that 0 < P(E) <1 and

0 < P(F) < 1,then

A.E and F¢ ( the complement of the event F) re independent

B. E° and F'¢ are independent

E E°
C'p<f) +P<Fc = ].

D. All of the above

Answer: D



https://dl.doubtnut.com/l/_CoPYweH8kpji
https://dl.doubtnut.com/l/_7o3xROFamT8W

| ° Watch Video Solution

63. Consider two events and B such that

A
1 B 1 A 1 .
P(A) = Z’P(Z> = §,P<§> =7 For each of the folloiwng

statement , which is ture.

. P(A/B) = g

Il. The events A and B are mutually excluise.
m.P(A/B)+P(A/B) =1

A.lonly

B.land Il

C.land Il

D.lland Il

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_7o3xROFamT8W
https://dl.doubtnut.com/l/_FM9Cn0cXrvXt

64. A survey of people in a given region showed that 20% were smokers.
The probability of death due to lungcancer, given that a person smoked,
was 10 times the probability of death due to lung cancer, given thata
person did not smoke. If the probability of death due to lung cancer in
the region is 0.006, what is the probability of death due to lung cancer

given that a person is a smoker?

Answer: C

° Watch Video Solution

65. A man is known to speak the truth 2 out of 3 times. He throws a die

andreports that it is six. Then the probability that it is actually '5'


https://dl.doubtnut.com/l/_8kai4bp9w73L
https://dl.doubtnut.com/l/_SizfjQ6RlZSS

ol NN = o] w

Answer: C

o Watch Video Solution

66. A bag 'A' contains 2 white and 3 red balls and bag 'B' contains 4 white
and 5 red balls. One ball is drawn at random from a randomly chosen bag

and is found to be red. The probability that it was drawn from bag 'B' was


https://dl.doubtnut.com/l/_SizfjQ6RlZSS
https://dl.doubtnut.com/l/_UH9DihvEADKn

Answer: D

° View Text Solution

67. A bag X contains 2 white and 3 black balls and another bag Y contains
4 white and 2 black balls. One bag is selected at random and a ball is

drawn from it. Then the probability for the ball chosen be white is -

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_UH9DihvEADKn
https://dl.doubtnut.com/l/_nLGujSqedYOz

68. A student answers a multiple choice question with 5 alternatives, of
which exactly one is correct. The probability that he knows the correct
answer is p,0 < p < 1. If he does not know the correct answer, he
randomly ticks one answer. Given that he has answered the question

correctly, the probability that he did not tick the answer randomly, is

3p
4p + 3
5p
3p+ 2
op
“4p+1
4p
3p+1

Answer: C

° Watch Video Solution

69. In an entrance test, there are multiple choice questions. There are
four possible answers to each question, of which one is correct. The

probability that a student knows the answer to a question is 90%. If the


https://dl.doubtnut.com/l/_fpVVdOVSSalo
https://dl.doubtnut.com/l/_jd2V82kCK24o

gets the correct answer to a question, then find the probability that he

was guessing.

Answer: C

o Watch Video Solution

70. A person goes to office either by car, scooter, bus or train probability

2 1
of which being7, ™ and z respectively. Probability that he reaches
. .. 21 4 1
office late, if he takes car, scooter, bus or train is 9°9°9 and 9

respectively. Given that he reached office in time, then what is the

probability that he travelled by a car?


https://dl.doubtnut.com/l/_jd2V82kCK24o
https://dl.doubtnut.com/l/_geeGgmxnIv4I
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Answer: A

° Watch Video Solution

71. In a party 23 persons take their seats at a round table. The odds

against two particular persons sitting together are :

A.10:1
B.1:11
C.9:10

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_geeGgmxnIv4I
https://dl.doubtnut.com/l/_DKeDEy5gOH5V

72.0dds 9 to 5 against a person who is 40 years old living till he is 70 and
4 to 3 against another person now 50 till he will be living 80. Probability

that one of them will be alive next 30 years .

59
91
44
o1

51
91

32
o1

Answer: B

o View Text Solution

73. If odds against solving a question by three students are 2:1, 5:2, and
5:3, respectively, then probability that the question is solved only by one

student is 31 /56 b. 24 /56 c. 25 /56 d. none of these


https://dl.doubtnut.com/l/_DKeDEy5gOH5V
https://dl.doubtnut.com/l/_RhAqDha9O73e
https://dl.doubtnut.com/l/_7ClL5y3HHAjw

31
56
24
" 56

25
" 56

D. None of these

Answer: C

° Watch Video Solution

Competitive Thinking Miscellaneous

1. A quadratic az® + bz + ¢ = 0 distinct coefficient is formed . If a , b, c

are chosen form the number 23,5 them the probability that the equation

has real roots is

@
N RS I ORI Y


https://dl.doubtnut.com/l/_7ClL5y3HHAjw
https://dl.doubtnut.com/l/_SIfoVTlNcyWy

Answer: A

° View Text Solution

2. Given that =z € [0,1] and y € [0,1] . Let A be the event of (xy)

satisfying > < x and B be the events of (x,y) satisfying > < y.Then .

1
A.P(ANB) = 3
B. A, B are exhauive

C. A, B are mutually exclusive

D. A, B are independent

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_SIfoVTlNcyWy
https://dl.doubtnut.com/l/_Tw74ak9exzb4

3. An ellipse of eccentricity is inscribed in a circle . A point is chosen

inside the cirlce at random. The probaboility that the point lies outside

the ellipse is

Ol O~ W N N

Answer: B

° View Text Solution

Evaluation Test

1. Three numbers are chosen from 1 to 30. The probability that they are

not consecutive is


https://dl.doubtnut.com/l/_IxAki4gBrnsF
https://dl.doubtnut.com/l/_cLWEylWXr86D

142
" 145

144
" 145

142
" 145
5 1

145

Answer: B

o Watch Video Solution

2. Let EandF' be tow independent events. The probability that exactly
one of them occurs is 11/25 and the probability if none of them occurring
is 2/25. If P(T) deontes the probability of occurrence of the event T,
then P(B) = = 5 P(B) = _ 2

5
P(E) = 2, P(F) = +


https://dl.doubtnut.com/l/_cLWEylWXr86D
https://dl.doubtnut.com/l/_VbJOdoNP5lJQ

Answer: A

° Watch Video Solution

3. One Indina and four American men and their wives are to be seated
randomly around a circular table . The conditional probabiltiy that the

given that each American man is seated adjecent to his wife is ,

U= N W= =

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_VbJOdoNP5lJQ
https://dl.doubtnut.com/l/_moBK3nEbOc8D
https://dl.doubtnut.com/l/_kBkcTEW1vnf6

4. Four cards are drawn from a pack of 52 playing cards.Find the
probability (correct upto two places of decimals) of drawing exactly one
pair.

A 0.4

B.0.5

C.0.8

D. None of these

Answer: D

o Watch Video Solution

5. Three numbers are chosen at random without replacement from
{1,2,3,..10}. The probability that the minimum of the chosen number is 3

or their maximum is 7, is:


https://dl.doubtnut.com/l/_kBkcTEW1vnf6
https://dl.doubtnut.com/l/_CEQ6Tb107p4C

c 11
40

D. None of these

Answer: C

° Watch Video Solution

6. The probability that in a year of 22nd centurychosen at random, there

will be 53 Sundays is

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_CEQ6Tb107p4C
https://dl.doubtnut.com/l/_fFfSMfnii9n0
https://dl.doubtnut.com/l/_vToN2996wsZI

7. Let A B and C be three events such that
P(A) =0.3,P(B) =0.4,P(C) =08, P(ANB) =0.08, P(ANC) =0.2
JAf P(AU BUC) > 0.75,then show that P(B N C) satisfies

A.P(BNC) <0.23

B.P(BNC) <0.48

C.0.23< P(BNC) <0.48

D.0.23 < P(BNC) > 0.48

Answer: C

o Watch Video Solution

4 1
8. A signal which can be green or red with probability = and 5

respectively, is received by station A and then and 3 transmitted to
station B. The probability of each station receiving the signal correctly is

3
7 If the signal received at station B is green, then the probability that

3 6 20 9
(b) — (d)

the original signal was green is (a) = - 93 (d) 20


https://dl.doubtnut.com/l/_vToN2996wsZI
https://dl.doubtnut.com/l/_opZby2zDiAzL
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Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_opZby2zDiAzL

